		Primary Award			Secondary Award					
		MG Lawn & Landscape, LLC Fort Worth, TX HUB - No CO-OP - Yes				C. Green Scaping, LP Fort Worth, TX HUB - Yes CO-OP - Yes			n, TX ′es	
LANDSCAPING SERVICES	•	•				·				
LABOR RATES										
	Est.	Hourly Extended					Hourly		Extended	
	Hours		Rate		Rate	_	Rate	_	Rate	
1. Trained Technician, Hourly Rate, 8:00am to 5:00pm	150	\$	50.00	\$	7,500.00	\$	80.00	\$	12,000.00	
2. Trained Technician, Hourly Rate, 5:01pm to 7:59am	10	\$	75.00			\$	105.00	\$	1,050.00	
3. Trained Technician, Weekends & Holidays, Hourly Rate	10	\$	75.00	\$	750.00	\$	129.00	\$	1,290.00	
EMERGENCY RATE										
Emergency Call Rate, Hourly Rate	10	\$	125.00	\$	1,250.00	\$	129.00	\$	1,290.00	
LANDSCAPING SERVICES TOTAL		\$			10,250.00	\$			15,630.00	
PLANTS AND MATERIALS MARK UP:		20%				15%	6			
RESPONSE TIME										
List maximum response to be onsite for normal business hour calls:		4 Hours					2 Days			
2. List maximum response time to be onsite for emergency calls:		2 Hours					2 Hours			
3. List smallest crew size available for your Firm:		2				2				
4. List number of years your Firm has been in the Landscaping Services Industry:							Years			

		Primary Award			Secondary Award				
		MG Lawn & Landscape, LLC Fort Worth, TX HUB - No CO-OP - Yes				C. Green Scaping, LP Fort Worth, TX HUB - Yes CO-OP - Yes			
ARBOR SERVICES		ı							
LABOR RATES									
	Est.	Hourly Extended				Hourly		Extended	
	Hours		Rate	Rate		Rate		Rate	
1. Trained Technician, Hourly Rate, 8:00am to 5:00pm	150	\$	75.00	\$ 11,250.00	_	140.00	\$	21,000.00	
2. Trained Technician, Hourly Rate, 5:01pm to 7:59am	10	\$	150.00	\$ 1,500.00	\$	185.00	\$	1,850.00	
3. Trained Technician, Weekends & Holidays, Hourly Rate	10	\$	150.00	\$ 1,500.00	\$	260.00	\$	2,600.00	
EMERGENCY RATE									
Emergency Call Rate, Hourly Rate	10	\$	150.00	\$ 1,500.00	\$	260.00	\$	2,600.00	
ARBOR SERVICES TOTAL		\$		15,750.00	\$			28,050.00	
MATERIALS MARK UP:		20%			159	%			
RESPONSE TIME									
List maximum response to be onsite for normal business hour calls:		4 Hou	ırs		2 E)ays			
List maximum response time to be onsite for emergency calls:		2 Hours					2 Hours		
3. List smallest crew size available for your Firm:		3			2				
List number of years your Firm has been in the Landscaping Services Industry:		17 Ye	39	Years					

		Primary Award				Secondary Award			
		ı	MG Lawn & La Fort Wo HUB CO-OF	C. Green Scaping, LP Fort Worth, TX HUB - Yes CO-OP - Yes					
MASONRY WORK									
LABOR RATES									
	Est.			Hourly	Extended				
	Hours		Rate	Rate		Rate		Rate	
1. Trained Technician, Hourly Rate, 8:00am to 5:00pm	75	\$	50.00	\$ 3,750.00	\$	92.00	\$	6,900.00	
2. Trained Technician, Hourly Rate, 5:01pm to 7:59am	10	\$	50.00	\$ 500.00	\$	120.00	\$	1,200.00	
3. Trained Technician, Weekends & Holidays, Hourly Rate	10	\$	75.00	\$ 750.00	\$	145.00	\$	1,450.00	
EMERGENCY RATE									
Emergency Call Rate, Hourly Rate	10	\$	75.00	\$ 750.00	\$	145.00	\$	1,450.00	
MASONRY WORK TOTAL		\$		5,750.00	\$			11,000.00	
				•				-	
MATERIALS MARK UP:		20%			15%				
RESPONSE TIME									
List maximum response to be onsite for normal business hour calls:		4 Hour	2 Days						
List maximum response time to be onsite for emergency calls:		2 Hour	2 Hours						
3. List smallest crew size available for your Firm:		2							
List number of years your Firm has been in the Landscaping Services Industry:		17 Yea	39 Years						
TOTAL BID		\$		31,750.00	\$			54,680.00	

		TreeNewal, LLC Argyle, TX HUB - Yes				
LANDSCAPING SERVICES	•					
LABOR RATES						
	Est.	Hourly	Extended			
	Hours	Rate	Rate			
1. Trained Technician, Hourly Rate, 8:00am to 5:00pm	150	No Bid	No Bid			
2. Trained Technician, Hourly Rate, 5:01pm to 7:59am	10	No Bid	No Bid			
3. Trained Technician, Weekends & Holidays, Hourly Rate	10	No Bid	No Bid			
EMERGENCY RATE						
Emergency Call Rate, Hourly Rate	10	No Bid	No Bid			
LANDSCAPING SERVICES TOTAL			*No Bid			
PLANTS AND MATERIALS MARK UP:		No Bid				
		•	•			
RESPONSE TIME						
1. List maximum response to be onsite for normal business		No Did				
hour calls:		No Bid				
2. List maximum response time to be onsite for emergency		No Bid				
calls:		INU DIU				
3. List smallest crew size available for your Firm:		No Bid				
4. List number of years your Firm has been in the Landscaping		No Bid				
Services Industry:		INU DIU				

		TreeNewal, LLC Argyle, TX HUB - Yes				
ARBOR SERVICES						
LABOR RATES						
	Est.	Hourly	Extended			
	Hours	Rate	Rate			
1. Trained Technician, Hourly Rate, 8:00am to 5:00pm	150	*105	\$ 15,750.00			
2. Trained Technician, Hourly Rate, 5:01pm to 7:59am	10	*105	\$ 1,050.00			
3. Trained Technician, Weekends & Holidays, Hourly Rate	10	*115	\$ 1,150.00			
EMERGENCY RATE						
Emergency Call Rate, Hourly Rate	10	\$ 150.00	\$ 1,500.00			
ARBOR SERVICES TOTAL		T*\$	\$ 19,450.00			
MATERIAL C MARKLID.		Toos:				
MATERIALS MARK UP:		20%				
RESPONSE TIME						
List maximum response to be onsite for normal business hour calls:		4 Hours				
List maximum response time to be onsite for emergency calls:		8 Hours				
3. List smallest crew size available for your Firm:		2 Men				
List number of years your Firm has been in the Landscaping Services Industry:		5 Years				

		TreeNewal, LLC Argyle, TX HUB - Yes				
MASONRY WORK	•	•				
LABOR RATES						
	Est. Hours	Hourly Rate	Extended Rate			
1. Trained Technician, Hourly Rate, 8:00am to 5:00pm	75	No Bid	No Bid			
2. Trained Technician, Hourly Rate, 5:01pm to 7:59am	10	No Bid	No Bid			
3. Trained Technician, Weekends & Holidays, Hourly Rate	10	No Bid	No Bid			
EMERGENCY RATE						
Emergency Call Rate, Hourly Rate	10	No Bid	No Bid			
MASONRY WORK TOTAL			*No Bid			
MATERIALS MARK UP:		No Bid				
RESPONSE TIME						
List maximum response to be onsite for normal business hour calls:		No Bid				
2. List maximum response time to be onsite for emergency calls:		No Bid	No Bid			
3. List smallest crew size available for your Firm:		No Bid				
List number of years your Firm has been in the Landscaping Services Industry:		No Bid				
TOTAL BID		T	*No Bid			
IOIAL DID	1		140 Did			

^{*}Note: TreeNewal did not meet specifications for failure to bid all items as required. LETCO Group, LLC dba Living Earth submitted a no-bid.

		Primary Award								Seco	ondary Awai	rd	
		MG Lawn and Landscape, LLC Fort Worth, TX HUB - No CO-OP - Yes							C.	For H	en Scaping, t Worth, TX IUB - Yes O-OP - No		
	OWNER RENTAL EQUIPMENT	Hourly Rate Weekly Rate Monthly Rate H				Hourly Rate Weekly Rate		Monthly Rate					
1	Mini Skid	\$	125.00	\$	2,500.00	\$	5,000.00	\$	100.00	\$	3,400.00	\$	13,600.00
2	Full Size Skid	\$	200.00	\$	4,000.00	\$	8,000.00	\$	110.00	\$	3,740.00	\$	14,960.00
3	Boom Lift	\$	125.00	\$	2,500.00	\$	5,000.00	\$	185.00	\$	6,290.00	\$	25,160.00
4	Trailer	\$	50.00	\$	2,000.00	\$	4,000.00	\$	24.00	\$	420.00	\$	1,680.00
5	Aerator	\$	50.00	\$	2,000.00	\$	4,000.00	\$	90.00	\$	3,060.00	\$	12,240.00
6	Dump Trailer	\$	50.00	\$	2,000.00	\$	4,000.00	\$	120.00	\$	4,800.00	\$	19,200.00
7	Backhoe	\$	150.00	\$	3,000.00	\$	6,000.00	\$	145.00	\$	4,930.00	\$	19,720.00
8	Mini Excavator	\$	150.00	\$	3,000.00	\$	6,000.00	\$	110.00	\$	3,740.00	\$	14,960.00
9	Trencher	\$	50.00	\$	2,000.00	\$	4,000.00	\$	110.00	\$	3,740.00	\$	14,960.00
10	Stump Grinder	\$	50.00	\$	2,000.00	\$	4,000.00	\$	100.00	\$	3,400.00	\$	16,600.00
11	Chipper Truck & Chipper	\$	150.00	\$	3,000.00	\$	6,000.00	\$	220.00	\$	7,480.00	\$	29,920.00
12	Mixer	\$	50.00	\$	2,000.00	\$	4,000.00	\$	90.00	\$	3,060.00	\$	12,240.00

		TreeNev Argyld HUB		
	OWNER RENTAL EQUIPMENT	Hourly Rate	Hourly Rate Weekly Rate	
1	Mini Skid			
2	Full Size Skid			
3	Boom Lift			
4	Trailer	*No Bid	*No Bid	*No Bid
5	Aerator	*No Bid	*No Bid	*No Bid
6	Dump Trailer	*No Bid	*No Bid	*No Bid
7	Backhoe			
8	Mini Excavator			
9	Trencher			
10	Stump Grinder			
11	Chipper Truck & Chipper	*No Bid	*No Bid	*No Bid
12	Mixer			

^{*}Note: TreeNewal did not meet specifications for failure to bid all items as required. LETCO Group, LLC dba Living Earth submitted a no-bid.

There Shall Be No Mark-Up On Owned/Rental Equipment.